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NEW QUESTION 1
Which one of the following code examples uses valid Java syntax?

AI‘
public class Boat {

public static void main (String [] args) {
System.out.println ("L f£loar.™):

}

B'I'
public class Cake {
public static void main (Straing [] ) {
System.out.println (“*Chocolate”) ;

¥

.
public class Dog {
public void main (String [] args) {

System.out.println (“Sguirrel.”):;
}

D.
public class Bank {
public static void main (String () args) {
System.out.println (“Earn interest.”):;
¥

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 2
Given the code fragments:

class Student |
String name;

int age;

4. public class Test {

5 public static wvoid main(String[] args) {
€. Student sl = new Student();

7 Student 52 = new Student();

8. Student 23 = new Student();

* sl = 83;

10. 83 = =82;

11, 582 = null;

Which statement is true?

A. After line 11, three objects are eligible for garbage collection.

B. After line 11, two objects are eligible for garbage collection.

C. After line 11, one object is eligible for garbage collection.

D. After line 11, none of the objects are eligible for garbage collection.
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Answer: C

NEW QUESTION 3
Given the following classes:

public class Emplovee |
public int salary;

public class Manager extends Employee {
public int budget:;

public class Director exXtends Manager {
public int stockOptions;
}

And given the following main method:

public static voilid main(sStringl[] args) |
Employee employvee = new Employee ()

Manager manager = new Manager();
Director director = new Director():;
//line nl

}
Which two options fail to compile when placed at line n1 of the main method? (Choose two.)

A. employee.salary = 50_000;

B. director.salary = 80_000;

C. employee.budget = 200_000;
D. manager.budget = 1_000_000;
E. manager.stockOption = 500;

F. director.stockOptions = 1_000;

Answer: CE

NEW QUESTION 4

Given:
String stuff = "TV";
String res = null;

if (stuff.equals("TV")}) {

res = "Walter"™;
} else if (stuff.equals("Movie™)} {
res = "White";
}oelse |
res = "No Result"™;
}
Which code fragment can replace the if block?
A
stuff.equals (“TV”) ? res= “Walter” : stuff.equals (“Movie”) ?
res = “White” : res = “No Result”;
B
res = stuff.equals (“"TV"”) ? “"Walter” else stuff.equals
(“Movie”)? “White” : “No Result”;
C
res = stuff.equals (“TV"”) ? stuff.equals ("Movie”)? “Walter” :
“White” : “No Result”;
D
res = stuff.equals (“TV”)? “Walter” : stuff.equals (“Movie”)?
“White” : “No Result”;
A. Option A
B. Option B
C. Option C
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D. Option D

Answer: D

NEW QUESTION 5
Given the code fragment:

public static wvoid main (String[] args) {

Btring[] arr =

{ \'\Hi L . W HC.,.“T.I'I" : 'l.‘.hrafﬁ i Ryl 'f::'u.ﬂ' } ;

List<8tring>» arrlList = new ArrayList<> (Arrays.asli=st (arr);

if (arrList.removelf((String s)

Syatem.out
1
What is the result?

A. Compilation fails.
B. Hi removed

.println{s + “remcved”)’

C. An UnsupportedOperationException is thrown at runtime.
D. The program compiles, but it prints nothing.

Answer: A

NEW QUESTION 6
Given:

public cla=ss Test |

public static vwoid main(String[] args) {

int = = 1;

int y = 0;

1f (x++ = ++vy) |

System.out.print (“Hello “);

} else |

System.ocut.print (“Welcoms *);

}

System.out.print ("Log ™ + x + “:" + y);

}

What is the result?
A. Hello Log 1:0

B. Hello Log 2:1

C. Welcome Log 2:1
D. Welcome Log 1:0

Answer: C

NEW QUESTION 7

Given the definitions of the MyString class and the Test class:

package pl:;
class MyString {
String msqg;

MyString (String msg) {
this.msg = msqg:

}
}
Test.java:
package pl:;
public class Test {
public static void main(String[] args) {
System.out.println("Hello " + new StringBuild
System.out.println("Hello " + new MyString("J
}
}

What is the result?
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A

Hello Jawva SE B
Hello Jawva SE 8

Hello java.lang. 8tringBullder@<<hashcodel>>
Hello pl.MyString@<<hashcodel>>

Hello Java BE 8
Hello pl.MyStringl«<<hashcoder>

e

Compilation fails at the Test class

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Answer: D

NEW QUESTION 8
Given the code fragment:

int x® = 100;

int a = #++;
int b = +4x;
int o = xt++;

int d = {a < kY 72 (a < <) 7 a: (b <c 17 b o ®1;
System.out.println(d) ;

What is the result?

A. 100
B. 101
C. 102
D. 103
E. Compilation fails

Answer: E

NEW QUESTION 9
Given this code for a Planet object:
public class Planet |
public String name;
public int moons;

public Planet (String name, int moons)
this.name = name;
this.moons = moons;

And this method:

public static wold main(String[] args) {
Planet[] planets = (
new Planet ("Mercury”, 0),
new Planet ("Venus", 0),
new Planet ("Earth"”, 1),
new Planet ("Mars"”, 2)

System.out.println(planets) ;
System.out.println(planets([2].name) ;
System.out.println(planets(2].moons) ;
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What is the output?

A
planets
Earth
1

B
[LPlanets. Planet; @15dL3742
Earth
1

C
[LPlanet=s.Planet; @3154kL97742
Planets. Planet@adladadc
1

1]
[LPlanet=. Planet ;31549742
Planetszs. Planet@dadladafe
[LPlansts.Moon; 87852922

E
[LPlanset=s. Planet ;d154kL97 42
WVenus
0

A. Option A

B. Option B

C. Option C

D. Option D

E. Option E

Answer: C

NEW QUESTION 10

Given:

public class App |

int count:
public static void

count++;

What is the result?

main
() ?
():

A. Compilation fails at line n3 and line n4.
B. Compilation fails at line n1 and line n2.
C. Welcome Visit Count:1Welcome Visit Count: 1
D. Welcome Visit Count:1Welcome Visit Count: 2

Answer: B

NEW QUESTION 10

Given:
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public class App {
int count;
public static void displayMsg() {

System.out.println("Welcome Visit Count: " + count++):;

}

public static void main(String[] args) {
App.displayMsqg();
displayMsqg();

}

What is the result?

A. Welcome Visit Count:0Welcome Visit Count: 1
B. Compilation fails at line n2.
C. Compilation fails at line nl.
D. Welcome Visit Count:0Welcome Visit Count: 0

Answer: C

Explanation:

! public class App {
int count;
public static wvoid displayMsg{}) {
o System.cut.println{"Welcome Visit Count: " + count ++); //line nl

1

public static void main{S8tring[] args} {
App.displayMsg();
displayMsg();

1

}

NEW QUESTION 14
Given:

public class Test {

public static wvoid main(String[] args) {
boolean a = new Boolean{Boolean.valueOf (args[0])):
boolean b = new Boolean(args[l]):

L5 L1

System.out.println(a + + b):

And given the commands:
javac Test.java
java Test 1 null

What is the result?

A. 1 null

B. true false

C. false false

D. true true

E. A ClassCastException is thrown at runtime.

Answer: D

NEW QUESTION 18
Given the code fragment:
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public class Employves |
String name;
boolean contract:
doubkle =zalary;
Emploves () |
/4 line nl

}
piblic: Strihg-toSteing (¥

return name + ":" + contract + ":" 4+ =alary:

}

public static vold main(Stringl[] args) |
Emploves & = new Emploves () ;
/4 line nZ
System.out.print (e) ;

}

Which two modifications, when made independently, enable the code to print Joe:true: 100.0? (Choose two.)

O &) Replace 1ine nZ with:
e, name = "Joe™;
e.contract = tLrue;
e.galary = 100;

O B) Replace 1ine nZ with:
thisg.name = "Joe";
this.contract = true;
this.zalary = 100;

U C) Replace 1ine nl with:
thizg.name = new String("Joe");
thiz.contract = new Eoolean(true) ;
this.sgalary = new Double (100) ;

O D) Replace 1ine nl with;
name = "Joe™;
contract = TRUE;
galary = 100.0f;

O E) Replace 1ine nl with:
thi=z ("Joe", trues, 1007 ;:

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Answer: AC

NEW QUESTION 22
Given:
interface Readable |
public void readBook ()
public void zetBookMark () :
h

abztract clasz Book implements Readable | f4 line nl
public veoid readBook () { 1}
£/ line nZ

h

clas=s EBook extends Book | if ine n3
public veoid readBook () { 1}
A/ line nd

}

And given the code fragment: Book bookl = new EBook(); book1.readBook();
Which option enables the code to compile?
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= &) Replace the code fragment at line nl with;
class Book implements Readable |

© B) At 1line nZ insert:
public abstract wvoid setBookMark();

) Replace the code fragment at line n3 with;
abstract class EBook extends Book |

~ D) At 1ine n4 insert:
public wvoid setBookMark () { }

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 23

Given:

class Product
double price;

public class Test |

public woid updatePrice (Product product,

}

price = price * 2;
product.price = product.price + price;

public static woid main(8tring([] args) |

}

Product prt = new Product () ;
prt.price = 200;
double newPrice = 100;

Test £t = new Test ()
t.updatePrice (prt, newPrice) ;

double price)

System.out.println(prt.price + " : " + newPrice);

What is the result?

A. 200.0:100.0
B. 400.0 : 200.0
C. 400.0:100.0

D. Compilation fails.

Answer: C

NEW QUESTION 25
Given the code fragment:

LocalDateTime dt = LocalDateTime.of (2014, 7, 31, 1,
dt.plusDays (30} ;
dt.plusMonths (1) ;
System.out.println(dt.format (DateTimeFormatter.IS0O DATE TIME});

What is the result?

A. An exception is thrown at runtim
B. 2014-07-31T01:01:00

C. 2014-07-31

D. 2014-09-30T00:00:00

Answer: B

NEW QUESTION 26
Given the code fragment:
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abstract class Toy {
int price;
4 line nl

h

Which three code fragments are valid at line n1?

A
public static wvoid insertToy() {
/* code goes here */
}
B
final Toy getToy() ({
return new Toy():
}
C
public void printToy():
D
public int calculatePrice() {
return price;
}
E
public abstract int computeDiscount();
A. Option A
B. Option B
C. Option C
D. Option D
E. Option E
Answer: CDE

NEW QUESTION 31
Given:

interface I |
public void displavyI():
}
abstract class C2 implements I {
public wvoid displayC2() {
System.out.print ("C2") ;

}
class Cl extends C2 {
public void displayI() {
System.out.print ("Cl"};

}
And the code fragment:

C2 objl = new C1():
I obj2 = new Cl();

C2 s = (C2) obj2;
I t = objl;

t.displayI()}:;
s.displayC2 () ;

What is the result?
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A.Ci1C2
B. C1C1
C. Compilation fails.
D. C2C2

Answer: A

Explanation:

= lund
[ sre

-

interface I
public void displayI();
}
abstract class C2 implements I {
public void displayC2() {
System.out.print("C2");
}
}
class Cl extends C2 {
public void displayI() {
System.out.print("Cl");

}
}

public class App {
public static void main(String[] args) {
C2 objl = new Cl();
I obj2 = new Cl();

C2 8 = (C2) obj2;
It = objl;

t.displayI();
s.displayC2();

Console 1 X Console 2 * Console 3 X *

C1C2
Completed with exit code: 0

NEW QUESTION 33
Given the code fragment:
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abstract clas=s Planet |
protected void revolwe () filine nl

}

ab=ztract wvold rotate () ; Jiline nZ

clazss Earth extends Planet |
vold revolwve () Jiline n3

}

protected void rotate () | Jiline nd
i
I

Which two modifications, made independently, enable the code to compile? (Choose two.)

A. Make the method at line n1 public.
B. Make the method at line n2 public.
C. Make the method at line n3 public.
D. Make the method at line n3 protected.
E. Make the method at line n4 public.

Answer: CD

NEW QUESTION 37
Given:

class Caller |
private void init () {
System.out.println(“Initialized”) ;

private void start () {
init () :
System.out.println (“Started”) ;

}

public class TestCall {
public static void main(Stringl] args) {
Caller o = new Caller{):
c.start(); // line nl
c.init () ; // line nZ2

What is the result?

A. Compilation fails at line nl.
B. InitializedStartedInitialized
C. InitializedStarted

D. Compilation fails at line n2.

Answer: D

NEW QUESTION 40
Given the code snippet from a compiled Java source file:

public class MyFile
public static void main (String[] args)

{

String argl = args[1];
String argZ = args[2];
String arg? = args[3];

System.out.println(™arg iz ™ + arg3);
H
Which command-line arguments should you pass to the program to obtain the following output? Arg is 2
A. java MyFile 132 2

B. java MyFile 2 2 2
C.javaMyFile 12234
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D. java MyFile012 3

Answer: A

NEW QUESTION 42
Given:

class Test {
int al:;

public static void doProduct (int a)

a =a ¥ a;

public static
s.concat ("

public static
Test 1tem
item.al =
String sb
Integer 1

Vv

void main(Stringl(]

i

L] ] _+ 5};

new Test():

"Hello™;
10;

doProduct (i) ;
doString(sb);
doProduct (1tem.al) ;
System.out.println(i +

}

What is the result?

A. 10 Hello Hello 11
B. 10 Hello Hello 121
C. 100 Hello 121

D. 100 Hello Hello 121
E. 10 Hello 11

Answer: E

NEW QUESTION 46
Given the code fragment:

public static void main(String[] args)
String myStr = "Hello World ";

myStr.trim() ;

int il = myStr.indexOf (™ ");
System.out.println{il);

}
What is the result?
A. An exception is thrown at runtime.
B.-1

C.5
D. 10

Answer: A

NEW QUESTION 47

Which two code fragments cause a compilation error? (Choose two.)

A. float flt = 100.00F;

B. float flt = (float) 1_11.00;

C. Float flt = 100.00;

D. double y1 = 203.22;float flt = y1,
E. int y2 = 100;float flt = (float) y2 ;

Answer: AD

NEW QUESTION 49
Given:
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class Test {
public static void main (String [] args) {
int numbers [ ]:

numbers = new int [2]:
numbers [0] = 10;
numbers [1] = 20;
numbers = new int [4]:;
numbers [2] = 30;
numbers [3] = 40;

for {(int X : numbers) {
System.out.print (“ “ + x)

et ]

[

What is the result?

A. 1020 3040

B. 003040

C. Compilation fails.

D. An exception is thrown at runtime.

Answer: C

NEW QUESTION 53
Given:

public class Test |

public static vold main(String[] args) |
Test t3 = new Tesat();
System.out.print (isAvailable + ™ “);
izivaillakle= ts.doStuff () ;
System.out.println(ishvailable);

ki

public static boolsan doStuff ()
return lisAvailakls;

}

static boclean i1sivailable

falszse;
1

What is the result?

A. Compilation fails.
B. false true

C. true false

D. true true

E. false false

Answer: B

NEW QUESTION 54
Given this segment of code:

ArrayList<Cycle> myList = new ArrayList<>();
myList.add (new MotorCycle()):;

Which two statements, if either were true, would make the code compile? (Choose two.)

A. MotorCycle is an interface that implements the Cycle class.

B. Cycle is an interface that is implemented by the MotorCycle class.
C. Cycle is an abstract superclass of MotorCycle.

D. Cycle and MotorCycle both extend the Transportation superclass.
E. Cycle and MotorCycle both implement the Transportation interface.
F. MotorCycle is a superclass of Cycle.

Answer: BC

NEW QUESTION 59
Which two statements are true? (Choose two.)
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A. Error class is unextendable.
B. Error class is extendable.

C. Error is a RuntimeException.
D. Error is an Exception.

E. Error is a Throwable.

Answer: BC

NEW QUESTION 64
Given the code fragment:
LocalDate datel

LocalDate datalZ
LocalDate date3

LoecalDate . now() ;

System.out.println("datel = " + datel);
Bystem.out.println("date2 = " + datel):
System.out.println("dated = " + datel);

Assume that the system date is June 20, 2014. What is the result?

A
datel = Z014-06-20
dated = Z014-06-20
date3d = Z014-06-20
B

datel = 0&/20/2014
date? = 2014-06-20
date3d = Jun 20, =2014

C  Compilation fails.

D Anexception is thrown at runtime.

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 68
Given the code fragment:

int numsl[] = {1, 2, 32i;

int num=2[] = {1, 2, 3, 4, 51;

nums 2 = nums 1;

for (int = : num=2){
Svstem.out.print (x + ":");

i

What is the result?

A. 1:2:3:4:5:
B. 1:2:3:
C. Compilation fails.

D. An ArrayOutOfBoundsException is thrown at runtime.

Answer: A

NEW QUESTION 69
Given:
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claszs Wehicle |
int
ehicle ()4
thig (100 ; // line nl
i
Wehicle (int =)
thi=s.x = =

}

cla=s=s Car extends vVehicle |
int ¥v;
Car ()
superil;
thisg (207 ; 4 line nZ
i
Car (int vl |
thiz.v = v;
i
public 3tring to Stringl) |
return super.x + ":" + this.vy;
i
h

And given the code fragment;
And given the code fragment:

Wehicle v = new Car () ;
Syvstem.out.println(v);

What is the result?

A.10:20

B. 0:20

C. Compilation fails at line n1

D. Compilation fails at line n2

Answer: D

NEW QUESTION 70
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